#11 Test 6.2 Review





Name_____________ Per___



Find the following limits using the calculator and table.
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Find the following limits without a calculator.

	3.  
[image: image3.wmf]÷

ø

ö

ç

è

æ

+

®

3

2

1

lim

4

x

x


	4. 
[image: image4.wmf])

3

(

sin

lim

x

x

p

®


	5. 
[image: image5.wmf]2

1

3

2

2

lim

+

-

®

x

x

x



	6. 
[image: image6.wmf]6

5

1

2

1

lim

-

-

+

-

®

x

x

x

x


	7.  
[image: image7.wmf]4

3

81

3

lim

x

x

x

®

-

+


	8. 
[image: image8.wmf]2

5

5

1130

lim

x

x

xx

®

-

-+



	9.  
[image: image9.wmf]32

2

3

3515

56

lim

x

xxx

xx

®-

+--

++


	10.  
[image: image10.wmf]1

1

2

1

lim

1

+

-

+

-

®

x

x

x


	11. 
[image: image11.wmf]x

x

x

3

9

lim

0

-

+

®




Determine the requested information from graphs.
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18. Use the given graph of 
[image: image30.wmf]g

 to state the value of each quantity, if it exists.
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Graph the following functions.  Determine the limits (if they exist.
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Graph each of the following. SHOW AT LEAST 3 POINTS AND ANY ASYMPTOTES. NO CALCULATOR!
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SKETCH a POSSIBLE graph for each ( pay close attention to the end behavior of the graphs).
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Solve each of the following. SHOW ALL WORK!
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